20245 (202454 ~20255%38) ZITMY HHRHE L FHARE

No| 322 A FHRAEE (EA. B * HAg R (RH) FT L% fwE
1| b 7 E288RIAMY v RAE—ILE JtimE 32,283
2| dumE 12 $289EHY vy RAE—LE mE 26,333
3| dtimE 2 WHEIELSZTFL <y Fv s - FT7b77 2K JLiEE 30,000
No| & A FTRAE (BA. FE) 5 ERT (BDH) FTeHE fEE
1| =it 4 () B XL EUERT (BRAL) #7588 - (HIREP) (BRAL) B & = 228
2| == 4 (#) B BUERT (RAL) BBERR = =gl 1,400
3| =i 6 A EERT WIN FHF-ES ZHE 4,800
4 =ik 7 Hifl&0B% = 2,160
5 =it 7 TFHELBIE =R 1,000
6| =it 8 (SN EHRE 920
7| i 8 Hifl&0B% =R 5,000
8| =it 9 (#k) B BUERT (RAL) BBERR = =gl 2,500
9| =it 9 AIifilA0B2 = 3,670
10| =it 10 TFE B SR 1,000
11| =it 10 Biil50B& =S 4,080
12| =®=i 11 HiflE0B% ZHE 420
13| =it 11 HMLEO0B= SR 620
14| =it 12 ANEERT WA Fo)T-HEE =R 5,500
15| =Hit 2 (MBILELSRTFLRYFY I F7b 77 R HRHB 30,000
16| =it 3 HiMLBEO0B= SR 2,569
No| & A FiTRAE (BA. FE) 5 ERT (BDH) FTeHE fEE
1| mEm 6 B4 TR 4,703
2| M= 6 4515 FER 160
3| Bx 7 Y hU—ENLy Py Ya—a @ HRHB 21,125 AT B AR
4| B= 7 Y hY—ENLy Py Y- @ bt 12,712 2= (44 5 AR
5 B9=m 9 B4 TR 60,000
6| BIx 9 NEME Lt 1,280
7| BR 9 ASNEMES TR 665
8| BIx 10 B4 EE 4,195
9| BIx 10 BV EEEBEE Lt 7,300
10| BEx 10 E4 bt 30,000
11| B 10 HiY% v h—E0B& EE 46,693
12| Bx 12 E# R 60,000
13| E= 12 ASNEMES TR 1,000
14| = 12 NEMNE Et 892
15| B 12 ARDE Lt 10,250
16| BEx 12 B4 bt 2,231
17| B= 12 Yo hbU—ERLy Yy Ua—var £t 81,286 FAHA B B
18| Bx 1 NEME HRHB 1,290
19| B 1 B4 FEESNTE 3,000
20| ®=m 1 Y hbU—ENLyYyYa—a vl £t 11,677 FAHA B B
21| M= 2 (9B STRUFRT BURR AT Mt BT )18 10,682
22| B= 2 fzoLWE FER 500
23| B8 2 WBEIELS ZATFLRYF T - X777 K R 30,000 TYFUIET b
24| BI® 3 NEME HRHB 3,503
25| Bg= 3 =kE FER 7,300
26| HM= 3 B4 TIBR 60,000
271 B=®E 3 E# 1512 50
No| 32 A FiRAE (BA. FE) * HE Err (BDAk) F e %
2| i 7 E# FHIR 2,000
4| g 12 > /v4a FAE 1,000,000
5| PEp 2 ALY ZT L FHME 30,000 RYFVIETE
6| Ep 3 B4 FHE 60,000
7| HED 3 RSB FHIR 20,096 EREdslT
8  HED 3 Bt E AW FHIE 4,026 FTR B AR
9| hEp 3 WL +v o FHIE 1,882 AR AR
10| hEp 3 AxYaryyay ba—LZEAK FHE 19,644 25 5 AR
11| FE8 3 B m—nNis47Y0a—>a>y X FHIE 57,783 EEd=lR




12| & 3 BFBEEZEM FHIE 12,623 FTRL B BRi
13| & 3 OYzx74—FH FHIB 26,298 GiE=L
14| g 3 ) B ST EERT P ER S At FHE 6,422 ESANEELT
15| 3 BEL7ANLAT A ALY —ERY Y2 —2 a3 V8 FHE 4,299 598 B AR
16| g 3 EHE SIS X7 L FHIE 18,419 AE AR
17| 3 ALY RT L FHIR 21,162 EREdslT
18| A 3 HAIL/NT—Y)a1—ar X FHIE 5,883 FTR B AR
19 & 3 BWBRIINAT I T4 —=LT A>T FHIR 4,101 EEd=lin
20| 3 (=R SNy BRI 13,865 S48 & AR
21| 3 HRZTA A —> 2T L FHIE 9,866 FTR B AR
22| i 3 Y227y oY GAMK 2)I1T5 FHR 6,423 AR AR
No| & A FiRAE (BA. FE) *HE ERT (RO H) FiteE %

1| BE 3 A= =RIE 300,000

2| E9F 2 MRAIIE WATL 3yFv) - ¥ T7hI7vk KERAF 30,000 TYFVIET b

3| BmE 12 B4 KERAF 20,000

4| M 6 B4 ABRAT 8,580

5| Em 1 FHARE AR T 5,346 ST BMmE

6| B7E 1 B4 FEBIT 2,080

7| Mm@ 5 At RaBEmE I L 7 5 ABRAT 2,000 ST BMmE

8| Mm@ 6 ILAETF FER 2,000
No| A FiTRAE (BA. FE) *HnE FRT (BDAH) FIeHE fEE

1| mE 12 POEHIZ0BS F 19,186

2| WE 12 ENEABESR 3 37,000 TN 75IN%E

3| mE 7 BMENBES | 89,095 | 7 /8—F 1 —BINE

4 mE 3 ALY RT L 30,000 TYFVIOET b
No| & A SRR (BA. FE) *HnE ERT (BDH) FTeHE fEE

1| Al 4 Hiy—4%4F& pis =] 12, 000

2| Al 7 BIr8fErr (L) ZBEER &R 4, 350

3 Al 2 WAL ZT L 30, 000 RYFVIET b

4 FuM 3 EHE SIS X7 L &R 1,201




